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Topic:- General Knowledge and Logical Knowledge

1) Which of the following is NOT a capital of any State in India? / = o Q 319 91 31ER YR & fdt
TR B AT T &2

1. Allahabad / SdIgldlg
2. Ranchi / Tﬁﬁ

3. Raipur / [IYR
4, Dehradun / 36?@3

Correct Answer :-

» Allahabad / SdTgldlg

2) Which country won the Women's Asian Champions Trophy Hockey tournament in 2016? / 2016 |

afgen TR IfRE=a el giet gatae fog 3= sfiar
1. China / 39
2. India / HIRd

3. Japan / SITUTH
4. Korea / IR

Correct Answer :-

¢ India/HRd

3) Which medal did Ajay Singh win in the Asian Youth and Junior Weightlifting Championships held in
July, 2017? / JATS 2017 & ST TRIATS a1 T4 SR WRIa ufadifiar # s Rig 3 @4
T UGS St UT?

1. Silver / Xold

()



2. Gold / a0}
3. No medal / ﬁ_&g g '_‘I_E»pf

4, Bronze / CAR

Correct Answer :-

« Bronze / DI

4) Kundhei, Gombeyatta, and Bommalattam are forms of which of the following arts? /?Qﬁ Tﬁ'l:la'qET

w4 SimTagy Fafafea 8 @ 59 ar & yor @2
1. Folk Dance / Tli& I
2. Folk Theatre / NIECRURIN]

3. Folk Stories / I HYUTY
4. Puppeteering / Wﬂﬁ?ﬁ THTRIT

Correct Answer :-

» Puppeteering / W?ﬁw

5) Arya Samaj was established in / ST THTS B RITYAT HF E—g g
1. 1875

2. 1881

3. 1872

4. 1880

Correct Answer :-

« 1875

6) India’s largest museum is located at / HIRd bT a9 q93T IUeTad ”Clﬁ R %:
1. Kolkata / BTl

2. Chennai / %31‘5‘

3. Bengaluru / w
4. Delhi / feeft

Correct Answer :-

)



o Kolkata / CANEARI

7) Chief minister of Madhya Pradesh during 1977-78 and a member of the BJP was / 1977-78 F IR

T Y= & YRIHAT T YTSTUT & 6w 3:
1. Ram Vilas Paswan / 19 fdes qrga=

2. A B Vajpayee / T groudy

3. Kailash Chandra Joshi / BT dg Sheft

4. Digvijaya Singh / fefaor Rig

Correct Answer :-

« Kailash Chandra Joshi / @I C IR

8) In which district of Madhya Pradesh is the Gun Carriage Factory located? / H& TR & v fora o
T SR pRETT R F 2

1. Barwani / SRAMT
2. Gwalior / TR

3. Jabalpur / Sle[eTYx
4. Bhopal / T

Correct Answer :-

e Jabalpur / Sle[eTYI

9) From which facility was Mangalyaan launched? / HITTdT &1 el frg v5 | E_st At

1. Thumba Equatorial Rocket Launching Station, Thiruvananthapuram / Y+l sﬁﬁw Ridre A= W,

2. ISRO Satellite Centre, Bengaluru / TR IIUE %, G\!"I(:l%’
3. Satish Dhawan Space Centre, Sriharikota / TR Y 3faie W, %“6[?@3]
4. Laboratory for Electro-Optics Systems, Bengaluru / ﬁ@ﬁmﬂﬁ og) TR, St [NE

Correct Answer :-

» Satish Dhawan Space Centre, Sriharikota / TIRT Yo 3fdiNe W, digReIer

10) Who is the current speaker of Lok Sabha? / ABYHT & TaHTT 3 el CaE| %'?

(4)



1. Sumitra Mahajan / ﬁ&ﬁﬂ RIS
2. Meira Kumar / R PHR
3. Somnath Chatterjee / HIHATY Tesi

4, Sushma Swaraj / FHHT TR

Correct Answer :-

 Sumitra Mahajan / ﬁ&ﬁﬂ He ol

11) Who proposed the ‘Wardha’ scheme of Basic Education ? / IE:E] qd Rrem T «qyf» B
o a2

1. S.N. Banerjee / TH.UA, FToif
2. Vinoba Bhave / fa=II€T 41d
3. Mahatma Gandhi / HelTHT Tieft

4. Lala Lajpat Rai / ITcil SIS d 1T

Correct Answer :-

« Mahatma Gandhi / AGTET el

12) Which major river flows between the Vindhya and the Satpura Mountain ranges? /ﬁ‘EIIT @W

dd §aaTr & S -3 T T 954l 82
1. Narmada / THaT

2. Ken /

3. Tapti / QTG

4. Sons / TF

Correct Answer :-

« Narmada /:ITTET

13) Who is the founder of 'Bachpan Bachao Andolan'? / GELE IR Gﬂaﬁq’ %Waﬁq%’
1. Medha Patkar/ﬁ‘éﬂw

2. Kailash Satyarthi /mw?ﬁ

3. Kranti Shah /Wl’ﬂg

4. Shantha Sinha / a1 f&=gT
(%)



Correct Answer :-

« Kailash Satyarthi /%Tszrweﬁ

14) Which sacred town is nestled in Northern Vindhyas? / I ﬁWﬁWWWﬁ?W%’
1. Ujjain / S

2. Chitrakoot/ﬁ’ﬂﬁ

3. Sanchi /Q:I'i?ﬂ

4. Shivpuri / W
Correct Answer :-

e Chitrakoot / W

15) Omkareshwar temple is located on the banks on river. / 3MTHPRTAR 'Fiﬁ?, I FTCW
RE gl

1. Narmada / THal
2. Tapthi/ 11|

3. Gomathi / TGt
4. Triveni / TAq0ft

Correct Answer :-

¢ Narmada/ :|TT_C'J

16) Which of the following is NOT a World Heritage Site? / fFufafeada Cack:| ﬁi’a’ T =@ T'Iﬁ'
22

1. Pench National Park/ﬁ?ﬂ@um
2. Keoladeo National Park/wwm
3. Kaziranga National Park/@lﬁm‘ll T@'q?ﬁﬂ:f

4. Kanchenjunga National Park/mﬂ@qm

Correct Answer :-

« Pench National Park/ﬂ?ﬂ@qm



Which of the following States has been ranked as the most farmer-friendly State by the NITI Aayog? / Hifa

TN gRT Rt we=n & 9 5 uexr ot forami & fore waifie s@a wo=r &1 guit faar
1. Rajasthan / XSTR[TT

2. Madhya Pradesh /qm

3. Maharashtra / HeRTY
4. Punjab /t]Trﬂ_d

Correct Answer :-

* Maharashtra / HeRTY

18) Kakrapar Atomic Power Station is located in / Wmﬁaﬁ ﬁ@ﬁf%l

1. Tamil Nadu / afe g

2. Gujarat / TSIRTd
3. Madhya Pradesh /ﬂ?ﬂm

4, Uttarakhand / SRS

Correct Answer :-

« Gujarat / T[SIRTd

19) Which State created history by winning the Ranji Trophy for the first time in 2017? / 2017 A foa =g

A TSI ET1 Sl 3idaTd I
1. Jharkhand / IIRGS

2. Gujarat / TJoRId
3. Kerala /W

4. Assam / 3dH

Correct Answer :-

e Gujarat / IoIRId

20) Which Indian Badminton player has been named the Member of the 10C Athlete's Commission? / o

YR Seftied faarst &1 g endl vyeiic MRt &1 S Arfid far mar 82
1. Srikanth Kidambi / Hiid fdat

2. Prakash Padukone /WW



3. PV Sindhu / Ut
4, Saina Nehwal /mﬁ?ﬁlﬁ

Correct Answer :-

« Saina Nehwal / 9131 AgdTd

21) Select the option that is true about the Statements and Conclusions given:

Statements:

Mango is sweet

All fruits are sweet
Conclusions:

1. Mango is a fruit

I1. All sweets are fruits

/ 3 fapeu &1 9= HIfere Wi faw T HY=T 3R freepul $ aR A T8l :
DY:
3T HiaT

I wads e

e

L 3THUH hd &
LIRSt A wag

1. both conclusion I and 1I follows / APy 1 ~3‘ﬁ? II Eﬁ:ﬁ S{FERUT G| %‘
2. neither conclusion I nor conclusion II follows / 33[ ey 1 GhT Gl _SD[ ey 11 S{FURUT A %

3. only conclusion I follows / Had ey 1 ST bl %’
4. only conclusion II follows / Fad sy 11 STTARUT Hdl %

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 &1 f5BY 1 3R 71 & FshY 11 3FIERUI vl &

22) Select the option that is true about the Statements and Conclusions given:
Statements:

All policies are laws

No law is a rule

Conclusions:

1. No policy is a rule

II. No rule is law

/ 39 faheu o1 99+ Fifoe Siife 3T T8 HU=T i fAeepul $ IR A I 8:
DHYH:
goft faai s &

DS PILT A TE1 ©
e

(8)



1. $Is A P 8 8
ILeE A e T8 8

1. both conclusion I and 1I follows / sy 1 GﬁT II Eﬂ:ﬁ SR XA %‘
2. neither conclusion I nor conclusion II follows / - _6°f ﬁEh‘Ef I GﬁT - ‘s”[ ﬁﬂﬁb‘ﬁf 1T 38R0 A %

3. only conclusion I follows / Had ey 1 ST pRdl %
4. only conclusion II follows / FHad ey 11 STTIRU] ol %‘

Correct Answer :-

« both conclusion I and II follows / fsHY I 3R II QT SFERY o3 &

23) Select the option that is true about the Statements and Conclusions given:
Statements:

All beaches are beautiful

Colva is a beach

Conclusions:

1. Colva is beautiful

IL. Parks are not beautiful

1 39 faped &1 79 FIifoe SifP T e Hy=Y 3R fAswul & IR & gl 8:

DY:

Tl Tsae Y @

Piedl U JHGEAC &

e

L. Pleal GaX @

I1. UTeh er el o

1. both conclusion I and II follows /ﬁﬁb'ﬁfl 3R 11 al SR P %

2. neither conclusion I nor conclusion II follows / :ffvpfﬁwﬁh GﬁT Cl ébf et 11 SR B %
3. only conclusion II follows / Had fFspy 11 STTIRUT Hdl ?

4. only conclusion I follows / Fad sp 1 S{TIRUT pRdl %’

Correct Answer :-

« only conclusion I follows / %ad fISHY I 3ERUI HdT §

24) Tanmay started from his house and went 2 km straight. He then turned towards his right and went 1
km. He turned again towards his right and went 1 km. If Tanmay is north-west from his house, then in
which direction did he go in the beginning? / T-HY N TR A P o 2 [t e | fe 98 e
31E 3R g1 3R 1 forefY. a1 g fibe o ok Yo 1 [t T afe 39 99y 914 A R 9 I«ik-
Uy # B, 95 oy # v o= & war am?

1. west / TI%H
9)



2. south — east / E{f?dUT-Dﬁ
3. south / Gf&OT
4. north — east / BER—Q\&

Correct Answer :-

. west/ T2

25) In the following question, some group of letters is given, all of which, except one, share a common
similarity while one is different.
Choose the odd one out:

/Ty & ere’l & oo I9E T e €, Frd @ te ) Siser v 94t ve I uehRid #ea € safe
TH 39 i g1

TS faww F1a S
1. QOM

2. IKG

3. RTW

4. IKM

Correct Answer :-

¢ RTW

26) Find the odd one out: /wﬁwmaﬂﬁqz
115, 113, 110, 103, 98, 87, 74

1.98

2.103

3.113

4. 110

Correct Answer :-

27) Complete the series choosing the missing number: / T BT FADR YT Bl GRT DITOTT:

1, 6,15, , 45, 66, 91

(10)



1.28

2.26

3.27

4. 25

Correct Answer :-

e 28

28) Complete the series choosing the missing number: / YW BT TABY AT DI YRT HIToTT:
2,538, ;14,17

1. 12

2. 10

3. 11

4.9

Correct Answer :-

29) Complete the series choosing the missing number: / T TBAT TADR YT DI GRT DITOT:
3,7,15,31,

1.63

2.62

3. 60

4. 65

Correct Answer :-

30) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T & 7 e #, T3 BT TP HH U &1 TAd JaIeH Ugar-g:
4,6,8,9,10,11, 12
1. 12

2. 10
(11)



3. 11

4.8

Correct Answer :-

o 11

31) The series given below contains a sequence of humbers. Identify the incorrect

combination: / 2 § TS e &, F@mell BT TP HH UK T Tad WIS U
5, 10, 19, 26, 37

1.37

2,26

3.5

4.19

Correct Answer :-

« 19

32) Complete the series choosing the missing letter/s: / &I S&R/AGRT BT gADY maﬁ LR PIfoTg
abc_d_bc_d_b_cda

1.d,e,c,b,d

2.d,a,c,a,b

3.¢c,d,a, b, e

4.b,a,c,d, e

Correct Answer :-

33) Select the option that is true about the Statements and Conclusions given:
Statements:

Some pastes are creams

Lime is a paste

Conclusions:

I. Some creams are pastes

II. Some creams are not pastes



/ 3 AP eu &1 9 BT P AT T Hy=T ok Fewul & ar o gl 8:
DYH:

PO T PHE

NP I

e

LPOPHIEE

1. $ HIH IRe TSI &

1. both conclusion I and 1I follows / AP 1 3R 11 ?.‘ﬁ:ﬁ ST G %

2. neither conclusion I nor conclusion I follows / 7T &1 5B Y I 3R =1 &1 fp 11 S{TURTT IRA &
3. only conclusion I follows / Had sy 1 ST pRdl %

4. only conclusion 1II follows / PHad sy 11 STERUN bRl %

Correct Answer :-

« only conclusion I follows / &Had FTpY I S{TART] Dl g

34) 836-246/82 %66 -234/13 =881

$ is equivalent to? / $ fFTP T B2

4./

Correct Answer :-

35) If COLLEGE is coded BNKKDFD, then how is SCHOOL coded? / f¢ COLLEGE &) BNKKDFD I

Hifsa fFar SraT 8, 9 SCHoOL &Y & Fifsd farar S
1. RDGNNK
2. RBHNNK
3. TBGNNK

4. RBGNNK

Correct Answer :-

+ RBGNNK
(13)



36) Two dice are thrown simultaneously. The probability of getting a sum of at most 5 is / 33[ Ui

T 1Y b | Uil § SMfUBdaH 5 T IRT 3 Bt HIGAT 4+ 8:

=3
1. 18
1
2. 4
1
3. 9
1
4, 12

Correct Answer :-

37) In a certain code language, new age schoo/ means kom fedal fena, old age company means
sena fena zena, top business schoo/ means kom pom dom. Which is the word for feda/in that code
language? / Th W PIS U ﬁ, new age school &1 31 kom fedal fena; old age company 1 3ref

sena fena zena <4l top business school T 3 f kom pom dom 3-1?“ %I °d BIS M H fedal P ﬁ’f({
5 e &1 3T fova T 82

1. school
2. o0ld
3. new

4. company

Correct Answer :-

38) In a certain code language, Zun Tun Lun means Air has smell, Pan Shao Tei means Raman is
smart, and Shao Res Tun means Air is pure, Jut Caz Lim means Don’t believe it. Which is the word for
Airin that code language? / T W IS HTUT ﬁ', Zun Tun Lun 51 AY Air has smell: Pan Shao Tei
&1 34 Raman is smart, Shao Res Tun &1 3 & Airis pure AUl Jut Caz Lim BT 3 & Don't believe itEﬁ?IT

T1 39 BIS U H 4ir P o ford 31eg 31 swaHTa fovar Tam 82
1. Shao

2. Lun

(14)



3. Tun

4, Zun

Correct Answer :-

e Tun

39) If NESTis coded MCPP, then how is QUICK coded? / Tfe¢ NEST &I McPPA HiiSd fhuT WIIaT 8,
@ QuIck T $A Hifsd fpar s

1. PSFYF
2. KIQUC
3. TWKEM

4. RVJDL

Correct Answer :-
« PSFYF

40) If MARKET s coded PEOGHX, then how is FLOWERS coded? | Tfe MARKET & PEOGHXT
Pifed a1 SITdT ®, A1 FLOWERS D1 $A Sifsd fHar WR?

1. IPLSHVP
2. IPLSGVP
3. IPLTHUP

4. IPNTHVP

Correct Answer :-

« IPLSHVP

Topic:- Mental Ability and Mental Aptitude

1)

(15)



In the sequence shown below, which figure comes next? / o=l &3 &7 & &, 3dTr
3T i AT 3RAN?

< | < "’"’
\,\ / .\‘ 1‘/ \'\ I..‘: \HI
K SISO '\ N «"
< | > < |
1 11 1w

(16)



If the following two squares shown below overlap, which one of the following options

is formed? / afg et & 37 JTaciud 81 &, ol feledd & T Hid I T Ghed FadT 57

O 0O
—~{ = -+

3)

(17)



In the sequence shown below, which figure comes next? / ==l &3 &7 &d &, 39T
FTRT i &Y REN?

EpEERES

o
=

Correct Answer :-

4) How much of pure alcohol has to be added to 500 ml of a solution that contains 10% alcohol in order
to change the concentration of alcohol in the mixture of 20%? / U Yo & 20% o W Al Higdl
P geaq & 1T 10% Srehiga ard TP faeras & 500 firefielex § fFawr 3 rewiea framar s
T2

1. 60 ml / 60 TR

2.62.5 ml/62.5 e
(18)



3. 45.5 ml /45.5 THet

4. 50 ml /50 Toett

Correct Answer :-

e 62.5ml/62.5 e

5) The price of a vegetable increases by 30 %. If the expenditure has to be maintained at the original
level, then the reduction in consumption in percentage has to be: / Th Teolt B DA 30% qB C[ STt
21 9fe o1 &) ga WX IR SR ¥EHT 8, 91 Gud § 1 S gla=raar e gl Tt

1.40.5 %
2.23.0%
3.385%

4.425%

Correct Answer :-

e 23.0%

6) A shopkeeper allows a discount of 15% to his customers. If the cost price of an article is Rs. 600 and
he intends to make a profit of 70% on his outlay, what should be the marked price of the article? / U

GPTER U UTEHI B 15% BI Fe & 8 | TS fhlt avg &1 N1 T 600 & B 3N T8 70% & ATH
& IEXT ¥ IUUR 9 Bl &, 9%g b1 Sifebd T T 541 A1M0Q?

1. Rs. 1020/ 1020 »UU

2. Rs. 1100/ 1100 ¥4TY
3. Rs. 1200 /1200 ¥UUY

4. Rs. 900/ 900 ¥Uq

Correct Answer :-
« Rs. 1200/1200%4UQ

7) A man sells a car to his friend at the loss of 10 %; who in return sells it for Rs. 54000 making a profit
of 20 %. What was the initial value of the car? / T 3TGH! 10% D1 T U 30U G B TP B
AT 8; S TG T 20% BT ATH HHM & 1T 37 54000 FUT H 39 34T 8 | PR BT URTHS Hod F1
YT?

1. Rs. 50,000 / 50,000 ¥UUY

2. Rs. 25,000 /25,000 2UY

(19)



3. Rs. 37,500 /37,500 2UJ

4. Rs. 60,000 / 60,000 ¥UU

Correct Answer :-

+ Rs. 50,000 /50,000 ¥4Y

8) A tap can fill a tank in 8 hrs. After half the tank is filled, three more similar taps are opened. What is
the total time taken to fill the tank completely? / Tch ¢ 8 e | W%—Gﬁ P R Thdl %I 3TYT TF YA
¥ q1g, 4 3R 0 70 T feu 9Id €1 ¢ 3l Tt aRe | WA & ol pa aaa | 32

1_6hrs/6‘5i%
2.5hrs/59c
3.3hrs/3‘a'—ar

4.4hrs/4’€i%

Correct Answer :-

. Shrs/SE]%

9) The ratio between the present ages of P and Q is 5 : 7 respectively. If the difference between Q's
present age and P's age after 6 years is 2, what is the total of P's and Q's present age? / P ThQ P gaq=
3TY BT SAJUT HHK: 5 : 7 81 Tl Q B TTHT AT TUT P B 6 I AT BT T BT 3(a 2 8, A P T
Q 1 $d T 3Tg FT 32

1. 24 years / 24 9
2. 12 years/ 12 GL
3. 48 years /48 Y

4. 36 years /36 Gl

Correct Answer :-

e 48 years /48 Gl

10) Ifx + 1/x =5, then find the value of X2+ 1/x2. /q%x +1/x=5 %, a2+ 1/x> Wqﬁsﬂﬁﬁl
1.24
2.23
3.20
4.19

(20)



Correct Answer :-

« 23

11) Average of 10 number is 50. If one number is excluded, then the average declines by 1. What will be

the number that is excluded? / 10 TSAT3N BT 3T 50 & 1 TS TP T fHapTar <1 &g, oY S & 1
H1 HHI g1 ATt 2 | FFrepTell TRit = = gt

1. 40
2.59
3. 66

4.75

Correct Answer :-

12) A thief steals a car at 10 a.m. and drives it at 60 kmph. The theft is discovered at 11 a.m. and the
owner sets off immediately in another car at 75 kmph. When will he be able to catch up with the thief? /

TS TR UTd: 10 T9 Th HTR IRIAT ¢ 3R 39 60 fH ufey €6 35t = 3 =arar 8 1 T &1 var uia: 1
aﬁm%;m%gﬁw%ﬁuﬁrﬁ%aﬂm@ﬁwﬁm@m%agahaﬁmﬁﬁ
S T GRM?

1. 1:00 pm / 1:00 ARz

2. 12:00 noon/atIBT 12:00
3. 3:00 pm / 3:00 3WRTa

4. 2:45 pm/ 2:45 A Wg
Correct Answer :-

e 3:00 pm/3:00 W@

13) If the sum of square of the age of a person today, after one year and after two years is equal to 2030.

Find the present age of the person. /uﬁwmﬁraﬂaﬂmqﬁ,wa&maﬂaﬁva’raﬁmaﬁm
& ¥ BT AN 2030 P ISR 1 &) AR BT TAH Mg F1 B3|

1.23
2.27
3.25

4. 30

(21)



Correct Answer :-
e 25

14) If the product of three numbers is 30,870 and the numbers are in the ratio 2 : 5 : 9, then the largest
of them is / TfS T HRAT3H BT UMHH 30,870 B, TUTIBATE 2 : 5: 9 P U A &, dl 370 JaIq
IS S 3

1.7
2. 14
3.63

4.35

Correct Answer :-

15) Mr. Raghu age is one-third of his eldest sister's age today, but it will be half her age after five years
from today. What is the age of Mr. Raghu's sister? / 3{Tsl st Y DI Y STB! TIA aﬁmaﬁw G|
o foes 8, afe ool @ uiw o 91 ¥ S99 39 3t 3ell g1 St | 4 7y F s FI U AT 82

1. 15 years/ 15 Gl
2. 25 years /25 8
3. 20 years / 20 CL

4. 10 years / 10 Gl

Correct Answer :-
e 15years/ 15 Gl

16) Jason Clive sold two of his racehorses for USD 9,975 each. In selling one, he had made a profit of
5%, but he had incurred 5% loss in selling the other. Overall, how much profit or loss did he make? /

S FAT8d A 9, 975 AN]SR A U 3l g4I & °le 94 | TP Bl a9+ T, 3 5% BT JATHT
HUTI, ATBT gIR DI a1 | 5% DI gI DI | FoI FHATH I fHa=T A1H YT 81 552

1. No profit, no loss / =T ¢TH, AT GG
2. 0.5% profit / 0.5% <YH
3. 0.25% loss / 0.25% BT+

4. 0.25% profit / 0.25% IH

Correct Answer :-
(22)



e 0.25% loss / 0.25% BT

17) The average height of three students A, B and C is 148 cm. If the average height of A and B is 142
cm and that of B and C is 145 cm, then the height of B is: / A, B T C &1 31 &>aTs 148 IHI g1 Al
A TY B B 3d S8 142 T TUT B TS € FY 145 FH €, Y B 1 4TS &

1. 144 cm
2. 140 cm
3.130 cm

4. 150 cm

Correct Answer :-

18) The average of 25 items is 30. The average of first 12 item is 20 and the average of last 12 items is 25.
Find the value of 13 item. / 25 GRG3IT BT ST 30 B 1 TUH 12 TIGHT BT =TT 20 § TAT 3ifew 12
aegal T 3fd 25 ¥1 137 9%g $T 7w 19 B

1.215
2.200
3.210

4. 205

Correct Answer :-

« 210

19) The average of 6 results is 8. The average of first 2 is 7.5. What is the average of the remaining four?

/ 6 UTRUTIHY T 31 8 €1 UBd 2 BT 319d 7.5 8 | A9 AR BT 3fia F18?
1. 6.25
2.8.25
3.4.25

4.5.25

Correct Answer :-

« 825



20) The ages of Bharathi and Geetha are in the ratio of 3 : 5. After ten years, if the ratio of their ages
become 2 : 3, then the present age of Bharathi is / YRt T iar &t ST PTAJUId 3 : 5 HEGELED
TG, afe ST 3TY HT AFUTd 2 : 3 Bl SITaT B, A R B aadH 31 &

1. 30 years / 30 Y
2. 35 years /35 Gl
3. 25 years / 25 Gl

4., 20 years / 20 Gl

Correct Answer :-

e 30 years /30 @Y

21) A and B participate in a 1 km race. The ratio of their speeds 9 : 10. A is given a handicap of 100
meters. What will be the distance between the two when the winner breasts the tape? / A T B 1 it
e A HIT A &1 SD! TTel BT AFUTT 9 : 10 81 A BT 100 Hiex &1 T Frem & it 81 o9 fasiar e
@1 dlsdl 8, a9 I & St B gl a1 gRiY?

1.20 m /20 HieX
2.15m/ 15 Hiex
3.0m/0deR

4.10m /10 4R

Correct Answer :-

e Om/0HIR

22) Find the length of the arc that subtends an angle of 120 degree at the center of a circle of radius

14cm.é14ﬁtﬁﬁmaﬁwqa%wmﬁﬁm€mﬁvﬁ%w 120 f&0 &1 T B siafea
PR

1. 132 cm / 132 9t
2.29.33 cm/29.33 THt
3. 98 cm/ 98 IHT

4. 44 cm / 44 ¥

Correct Answer :-

« 2933 c¢m/29.33 THT

(24)



If 9 workers are required to make 27 tables in 12 days, then how many workers will be required to make

16 tables in 16 days? / Tfc 12 f&= & 27 39a 9911 P oW 9 4TUP| P Smazgear gt g, o 16 &= &
16 99 g9 & fore fova 4f¥rel @t smazaddr gri?

1.4
2.16
3.12

4.8

Correct Answer :-

24) If 20 cows eat 380 bales of hay in 15 days; then, how many bales of hay will 15 cows eat in 10 days? /

Tfe 20 TR 15 f&A1 A 380 T F TTeaT Wit &; < 15 TR 10 0 F fpanit ary &1 Teiar @nge
1. 190
2.210
3.320

4. 165

Correct Answer :-

« 190

25) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ P A W AR uai 6 ¥ R R R @ & e g9 11 91 te 98 82

Joanne
25-35 Boab Place,

2170 Liverpool, Australia

(i) Joanne
25-35 Boab Place,

2170 Liverpool, Australia

(ii) Joanne

(25)



25-35 Boab Place,

2170 Liverpool, Australia

(iii) Joanne
25-35 Boab Place,

2170 Liverpool, Australia

(iv) Joonne
25-35 Boab Place,
2170 Liverpool, Australia

1. iii

Correct Answer :-

o iv

26) Find the average. / 3Nd Frerferd|

44,91, 11, 55, 66 & 39
1.51
2.54
3.45

4. 49

Correct Answer :-

27) What is the time taken by two trains of lengths 100 m and 200 m, moving in opposite directions with

speeds of 100 kms and 80 kms to pass each other? / 100 e 3R 200 lﬂaaﬁmﬁ?m?ﬁa’réﬁ 100 fomed}
3R 80 FpeiHier F YRR | TP g &1 UR B4 & forg fodta feem & =t 781 §, < 41 g R
TR A9 {1 B |

1.7 sec/ 7 AHS

(26)



Z.SSGC/SW
3. 6sec/ 6 TDHS
4.5sec/5@5ﬁ

Correct Answer :-

. 6sec/6APS

28) Which of the following pair has the same ratio as 1180 : 1652? / Fafafaad '\ﬁﬁ?‘\q\_rﬁﬁ T SUTd
1180 : 1652 & TH 52

1. 875 : 1400
2. 1260 : 900
3.625:875

4. 900 : 1200

Correct Answer :-
e 625:875

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /T'ﬁ%E.P[TI's: mﬁ, M&lﬁsﬁ?msﬁmwamﬁﬁa%l Terd HaISH Ugane:
i.bhyio30200hyibo

ii.bhyio30200hyibo

iii.bhyio30200byibo

iv.bhyio30200hyibo

1. iii

Correct Answer :-

e il

30) What will be the last digit, when you expand 825/ ST9 37 825 BT fawaR 331, dt Sifaw 3iw w1 ghm?

1.4
(27)



2.6
3.1

4.8

Correct Answer :-

Topic:- Science and Simple Arithmetic

1) .4 =60then2BOC= ./ sA=60%,@ 2BOC= .
A
B &
1. 100°
2.120°
3. 80°
4. 60°

Correct Answer :-

. 120°
2) gE Y ) gV E X qF X =

A

1.2

2.0
3.a

4.1

Correct Answer :-



In the diagram two parallel lines are intersected by a transversal. f 21— 22=30°

thenz2=__ ./ Tew v &7 #, g 9AT0C WU v 349 W@T @ uidesfed & a7 wr &1 3%
£1—-22=30dTz2=__ .

/
/

e
1.85
2,80
3.75
4.60

Correct Answer :-

o

4 — — — —
) |f \(T764= 42, then 01763 = .} AR 1764= 42, dY 401764 =
1.42

2. 0.042

3.42

4.0.42

Correct Answer :-

« 042
5) 1 . 2 1 1 2 1
If x+>=05,thenx?+ — = AR x+=-=5,@x*+ ==
x x: x x:
1.25
2.23
3.27
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4.32

Correct Answer :-

1.0.14
2.0.014
3.14

4. 1.414

Correct Answer :-

. 14

7) Fresh milk has a pH of 6, as it turns into curd the pH will: / ?n@rgum pH 6 EPIHT%, o ?f dg
281 ¥ ufkafda grm, & 39T pH 8 ST

1. Not be measured / HIUT :@)[ ofl Hohdl
2. Not change / uRkafdd '_'l_ﬁpfthlT

3. Decrease / ©H m
4. Increase / Q@ BT

Correct Answer :-
¢ Decrease / hH él‘ll

8) If the volume of a cube is 125 cu m, then what is its total surface area? / uﬁ'W‘?FT BT STAd 125

T4 1. B, @ SUPT $o1 YSS 1T QABS T gRI?
1. 180 sq cm / 180 T T,
2. 150 sq cm / 150 ¥ T,
3. 300 sq cm / 300 & T,

4.120sqem/ 120 I .

Correct Answer :-

* 150 sqcm/ 150 it T

(30)



9) If three observations are 80 , 82, and 70, and the fourth one is twice the fifth observation, and its
average is given as 95, then the two observations are: / uﬁ'cﬂ'—rfr&rw 80, 82, YT 70 % 3R ?ﬁzﬂ, Uid
&A1 T R[AT &, 3R SHBT 3N 95 f3ar 8, at ) Yeor A= &

1.82 and 164 /82 3iR 164
2.72 and 144/ 72 3R 144
3. 80 and 160 / 80 3R 160

4. 81 and 162 /81 3R 162

Correct Answer :-
« 81and 162/81 3R 162

10) What sum of money will amount to Rs. 2508.80 at 12% p. a. compounded annually in two year of

time? / =il SFRIRT 12% AT Tpgfe =TS &1 g% v 2 96 &t 3afy o 2508.80 T 7 wTCH?
1. Rs. 2400 / 2400 T4
2. Rs. 4000 / 4000 TG
3. Rs. 2000/ 2000 39

4. Rs. 3200 / 3200 3T

Correct Answer :-
« Rs. 2000 /2000 TTY

11) The area of a parallelogram with base 8 cm and the distance between the parallel sides = Scm, is: /

%mmﬁﬂﬁmmﬁﬂiﬁlﬂmmﬂwﬁtﬁ.%aﬁ?wmamaﬁ%nwﬁgﬁsﬁtﬂ.

1.22sqem/22 o AT,
2. 20 sq cm/ 20 I .
3.40 sqcm /40 f 3t
4.42 sqcm/42 af 3.

Correct Answer :-

« 40sq cm / 40 9 T,

12) By selling a bicycle for Rs. 819, Vinay loses 9%. At what rate should he sell it to make a profit of
5%? / T T 1 819 U F TI3Fa ST W 9% R T URIgaT 81 e 30 I T R A F

(31)



I 5% BIATH EI?
1. Rs. 965 /965 304
2. Rs. 945 /945 304
3. Rs. 900 / 900 T

4. Rs. 968 /968 T

Correct Answer :-

o Rs. 945 /945 370

13) The bending of light rays when they travel from one medium to other medium is called

| T TBTRT &} FePROt e WTE @ g W A AT A, SIS e el
1. Reflection / TRTAH

2. Polarization / ¢dUl

3. Interference / SATAHRUT

4. Refraction / 3{Tdc-

Correct Answer :-

e Refraction/ G‘I'CIEI?%-T

14) Which of the following statement is incorrect regarding friction? / qYUr & Ha"l-fﬁ BEIGIEECE K
DI A1 HYF T 2

1. It is caused by the interlocking of the irregularities on the surfaces / dg ﬂﬂa R AT & sid.deq &

CARUESIE
2. It is caused by the force of adhesion between the surfaces / Ug HT‘I_EET & 9T TS g & BRI Eﬁ?ﬂ %I

3. It is a necessary evil / Ug U 3{[ARYD TRl

4. It does not cause wastage of energy / g STl BT MUY T8 Bl %l

Correct Answer :-
« It does not cause wastage of energy / J8 STl BT U e8! Hdl g

15) What does upper and lower layer of cells in leaves do? / uferaY § BifRreTrel #1 Hudl eiv ﬁ'ﬁi‘lﬂ?
HT HA 82

1. All of the above / STYarT Tt

2. Regulate the water content only / b orer T & Fafia st %
i ’ (32) i



3. Protect the inner parts only / R sfiafe yrT &t qR& CRGIR
4. Exchange of gases only / Ryt 1} &1 fafma st %

Correct Answer :-

« All of the above / ST Tt

16) What happens when unlike charges come together? / HIT giar % od faudia sma= Th AT 3d %.?
1. Always repel each other / TART IS QQ:Q ﬁqﬁwﬁamﬁ%l

2. Always attract each other / Eﬁ'—‘\"ﬂ @@HQ P BT B %I

3. Can attract or repel depending on the quantity of charge / ST &1 AR & YR TR 3T I Ufadb i
FRIPA G

4. Can attract or repel depending on the nature of material possessing the charge / STAYT YT aTel At B
THid b YR TR SATHTNd 1 e iia o2 Thd ol

Correct Answer :-

« Always attract each other / gﬁ?ﬂ @@HQ P BT B %I

17) Ignition temperature of a substance is the ./ TP Ty o1 yeaa arg ﬁ?ﬂ %I

1. highest temperature produced on combustion of that substance / 3H a1 & g8 IR I~ Seddd arad=
2. temperature at which a fuel becomes gas / dg dIUHIT ©q —QF‘EFT T &9 S %

3. minimum temperature required for combustion of that substance / 39 e} & ggd & fore sawas
L AGH dTUHH

4. average temperature produced on combustion of that substance / 39 e & g5 R IO 3ga
GIEEIE

Correct Answer :-

« minimum temperature required for combustion of that substance / 39 e & g & oy smaas
A dTIHT

18) Size of cells are measured in ./ ﬁﬁlﬂﬁﬁ Ga) W,_ﬁTITQT\_rﬂ?IT %
1. Millimetre / ferefiHiex

2. Centimetre / YR

3. Metre / HIcX

4. Microns / Iﬂ"si?:lﬁ?

(33)



Correct Answer :-

« Microns / AT

19) The strength of the magnetic field due to a solenoid can be increased by: / UfITeTeRT & HRUT

TP &7 &1 Ui ? T & gR1 i B o1 Ioedl 8:
1. By winding solenoid on a plastic rode / URARIST Bl We® B BSW qUC TP
2. Decreasing the current strength in the solenoid / ufeAferest & ot aref & H e

3. Decreasing the number of turns of the solenoid / qiR=fTeRT o %;LHIOI\I. D1 AT § Bt b

4. Increasing the number of turns of the solenoid / TRFCIT & qma“r Cakstcik q@ PR

Correct Answer :-

« Increasing the number of turns of the solenoid / URFTCIRT & gma’r DI G | EI@ PID

20) Find out the mismatched set of muscle features. / Uit @1 faRiuarsli & 90 qdqe 3 ﬁ-’l’%ﬁ e
1. Skeletal — voluntary / HHId — UBH

2. Skeletal — striped / BT — USIGR

3. Smooth — unstriped / Tl — farT U@E‘F

4. Smooth — voluntary / It - ﬂ%_cb_

Correct Answer :-

* Smooth — voluntary / EC m

21) Name the longest cell in human. / HI-d s | '\qaﬁ GEI aﬁﬁ'ﬁﬂ CAKIL) a?l'lg'a'l
1. Nerve cell / i1 HIfRTHTT

2. Muscle cell /ﬁ?ﬁqﬁm

3. Hair cell / IH m

4. Mycoplasma / mﬁzﬂ

Correct Answer :-

« Nerve cell / dfF@T $I|QI$IQ

22) 15 the polynomial 2x? + 5% + 3 ig divided with {(x + 1), the remainder is: | afe agug

22% + 5% + 3 g5y (¢ + 1) § Ryanfr e wimg, < Srwwa Pyt @hm:
(34)



1.0
2.5
3.3

4.2

Correct Answer :-

23) If the angles of a quadrilateral are in the ratio 2:4: 5:7, then the largest angle is: /?TI%W ?Fg['l;ITrf & DI
2:4:5:7 % JUTd | g, A TIQ TS BV BT AT =1 §H:

1. 40
2. 100
3. 145

4. 140

Correct Answer :-

24) In a rhombus ABCD, if AC = 12 cm, BD = 16 cm, then AB = ./ Wﬂ'ﬂﬂﬁﬂ\_ﬂ ABCD 'Ef,
gfed AC = 12 T}, BD = 16 T}, @ AB = .

1. 12 cm/ 12 39

2.10 cm/ 10 9Ht
3.15cm/ 15 9H

4. 14 cm/ 14 9H

Correct Answer :-

e 10cm/ 10 9

25) Spirogyra : multicellular alga :: : unicellular alga
/ TATSRATIERT: TEHIRIP I RAaTa:: : TP BIRAPIY TaTd
1. Chlamydomonas / FARSHA™

2. Porphyra / tﬁ'TGTI'SRT

3. Ulothrix / J@ITaT

(35)



4. Sargassum / IRIH

Correct Answer :-

+ Chlamydomonas / ?ﬁﬁ@ﬁ:ﬂﬂ

26) Plastics are very useful and extensively used these days because they are:

/ T 9gd Suantt € 8k 39 oA U w0 | Suai @ wrdt @ Fife a:
1. Light weight and strong / A4S+ T o] 3R Holqd a?ﬁ%l
2. Good absorbents of water / 5T@ @1 33T AXTDH Bﬁ?‘ﬁ%l

3. Good conductors of heat and electricity / 35T 3R fagad &1 JATA® Bl g
4. Chemically reactive / ITTIAd: s <fd gt @

Correct Answer :-

« Light weight and strong / I H gedb! 3R Holgd gici o

27) golve: S{x +43) =2(3x + 4) / S{x +43) = 2(3x +4) B 5 FIRTT:
1.217
2. 107
3. 207

4. 197

Correct Answer :-
o 207

28) In our country, vast tracts of forests are cleared and a single species of plant is cultivated. This

practice promotes:/Gﬂﬁﬁ'&Tﬁ,ﬁ%W umm?ﬂwﬁqweﬁvtﬁ%ﬁaﬁwuﬂrﬁraﬂ@?ﬁ
D1 T | U 3T 3 U P &

1. Monoculture in the area / &3 & W?ﬁf
2. Preserves the natural ecosystem in the area / PR EI'IW TIRRUTIST T3 BT T&q0T
3. Biodiversity in the area / &= H SIgfaferdT

4. Growth of natural forest / UTdhidd o1 BT fdbTg

Correct Answer :-
« Monoculture in the area / aﬂ | Thd ?ﬁ[
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29) The structures that increase the surface area of exchange of gases in the body are

. / TS Wi ¥RR ¥ T F fafva & gsdiy &9wa &) 9o €, gl
1. Bronchioles/mw
2. Alveoli / B0 (Tleadian)

3. Lungs / PUp¥ (S1H)
4. Trachea / I RET |

Correct Answer :-

« Alveoli / BT (Tfegaret)

30) The term ‘semi-permeable’ is used for: / Uqg 3ref R wﬂs %’Q IUART BT Srdn %:
1. Cell wall / BRI

2. Cell membrane / PIRIBT %Iﬁﬁ

3. Mitochondria / ms‘cﬁﬁ%m

4. Lysosomes / (_'I'IB@@T[

Correct Answer :-

« Cell membrane / BIeHT foTewlt

(37)



